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>>a = (3/4)*6*TA2+4N/(TA3-145); }* /| T B i1 7, 14 & A PR A B 4555

>>p = (48.2*55-913)/(53+14/2);

POl BRI R A AR di B b4eb=(48. 2%565-973)/53+14°2 =SF i AR LT
5 “Timatlab ¢ 3 B (48. 2*55—9A3)“,4rf PR RE LSV E I 8 - 3 %ﬁf‘ﬂr ¥ o
>>C = 27/2/4+3197N4/5)/5+60%141-3; 4| 41 i1 7, 319 ch4/5 = >
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>>(3+6i)*(-7-9i)
ans =
33.0000 -69.0000i



>>(5+4i)/(5-4i)
ans =

0.2195 + 0.9756i
>>3i/2

ans =

0 + 1.5000i
>>3/2i

ans =

0 - 1.5000i
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>>ratio=10"(1.5*7.3)/10"(1.5*5.5);
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19.) i H MATLAB #;H 21550 36x% + 1222 — 5x +10 = O f#H -

>>p=1[36,12, -5, 10];:cA Fii R & ¢ % ¢ 4285 ] > @ 2w 2 * 45500
>>roots(p)

ans =

-0.8651

0.2659 + 0.5004i

0.2659 - 0.5004i

#2 5 —0. 8651 and 0.2659 + 0.50041.
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>>t=[1:0.005:3]; # # 0.0054 7 1~32 B @2 £ 50.005

>>T = 6*log(t) - 7*exp(0.2*t);

>>plot(t, T),title(oTemperature Versus Timeo),...

xlabel(oTime t (min)o),ylabel(oTemperature T (>>C)o) H ¢ -+ & X & BT - {7

25, )i 1] MATLAB 3 R il FHIARER -

- 7x + 14y — 6z = 95
12x — 5y + 9z = —50

—S5x 4+ 7y 4+ 15z = 145

\
>>A = [7,.14,-6;12,-5,9;-5,7,15];
>>p = [95;-50;145];
>>x=Ab%F 5 FAEEFY > ST ieE R :t"f ES
x=-3, v =10, and z = 4.

i");i?&mg%zy = ax’+ bx’ + cx + d @R N (x, y)EE 2 (-1, 8) ~ (0, 4) ~ (1, 10) » IX
(2, 68) « i MATLAB W/AEFRGER 1/ » WHEHEHLla ~ b > ¢ » DIk
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—atb-c+d=8

d=4

atb+c+d=10

Ba+4b+2c+d=68 11} A AR ehaE A 5

The session is:

>>A=[-1,1,-1,1;0,0,0,1;1,1,1,1;8,4,2,1];

>>p =[8;4;10;68];

>>x=Ab AR 254E 0 R AR A R ERE 2 L R a0
a=7T b=5 c=-6,d-=4.
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' —EMH - B B x<—1Hfy=e*' » -l <x<5Hfy=2+cos(mx)* L5
Zxlfy=100x=5) + 1 o HE/I{RAVEZRH REx =5 » x =3I ex=15fy -
T HAE TR MR AR Arig He i -

X =58 & AP & foonfiy » iEx= -5 2 {8 B Rx=311 2 =153 H 2
FESEE RO ST

y=exp(x+ 1)t 45Nt B2

elseif x < 5% ¥ g% ~ B -] 3tHPF

y= 2+cos(p|*x)'1 L" 22

else

y=10*(X-5) + 14c% ™ b F A A o plragpt 3 gt 5 2

end

% x=-5 R y=0.0183. x=3 R y=1 x =15 B y = 101.
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39.) 61 £ SHRRE IS 5K B LOTERYR » HIELRE k= 1,2,3, .10 -

sum = 0;2" 7 4258 & 2bsum ¥ 570 > @ Esumdp T 5 0
fork = 1:103% =k 5 1~10
sum = sum + 5*k"3; % 5L = i 5 0 ke ) Ea‘ﬁ e F e eh f2 5
end/t ¢ [ 5 ﬁ“)‘]ﬁf‘% &7 T w- FasumE ot ¢ & Ffmatlab® o sumeniE
sum

= 15125.
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amtl = 1000;amt2 = 1000; %5 2% — 52 % = 7417 - B 4o » a4 B
k1=0k2=0;3%k TH - B4 5 % 2 &

while amtl < 50000% % — 74L1{7 42857 FF

kl=kl+1;

i;%kl?:»ﬁi%]:". RSt A B V| E'Jiiﬁﬁﬂﬂﬁlﬂ! Bk2gip TSl
TEF - F o FR2EA]PF E!‘Jii,%ﬁﬂﬁig?]:". BEk2gdp T a2 i v &

amtl = amt1*1.055 + 1000; & ! & £ +41 A,

end

while amt2 < 50000

k2 =k2 + 1;

amt2 = amt2*1.045 + 1000;

end

diff = k2 - k1

k25 % = 34U AR EOHHE ohE B(26% )kl 5 % - 74T AREHE & H(24# ) >
RIS TE F D RET I F - AT S e R .



